Geometry — Mr. Bo Name:
Unit 7 - Day 1 notes Date:

Ratio and Proportions
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A ratio can be written in a variety of ways...

Example: The number of boys to girls in this classroom S’
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Using Ratios:

Example: $10 is divided between two people in the ratio of 2:3. How much does each person get?
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How many equal “parts” should the $10 be divided into? 9‘) + 3 = S ’.\7c~r¥6~
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How big is each equal “part”? % s -

How many equal “parts” does person 1 get? Q Person 27 3

)2y 3(4)=6
How much $ does person 1 get? 2 )= Person 27

Example: $160,000 is distributed to three people in the ratio of 2:3:5. How much does e;ch person receive?
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Example: The measures of the angles of a triangle are in the ratio of 2: 3: 4. Find the number of degrees in
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Solve each of the following proportions:

To solve a proportion you must: CosS~ mu ‘H'.-;ﬁ( .7
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GCimilar Polygons

Similar (~) means: * S6 e S‘\c\’/z.e.

2 polygons are similar if:
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Examples Are the polygons S|m|Iar? If so, find the similarity ratio.
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Example: Given the similar rectangles:
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Similarity Ratio= ¢ ~
Diagonals Perimeters Areas
Large = ﬁjo’%—; {13 Large = 40O Large = 96

Small = ,lll? = 3@ small= 3O Small = Sy

Ratio = i@_@ Ratio = L‘L(.{- = ,(// Ratio= 7% /6
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Theorem: The ratio of any(corresponding lengths gf two similar polygons = S'\ fast \ \Qt: A Qc\k*io .
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(Sides, Perimeter, Diagonals, Altitudes, Medians, etc.)
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Theorem: The ratio of th@of two similar polygons = (eim\\kr\\t) ‘Q%HOS
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1. The ratio of the perimeters of two similar trian is9:12.
a. What is the similarity ratio? °|
l '2.

b. What is the ratio of their smallest sides? % j-ﬂhsé“/\

¢. What is the ratio of their altitudes? 3
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e. What is the ratio of their areas?
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d. What is the ratio of their medians?

2. The ratio of th@f two similar pentagons is 25:144. If the largest side of the

small nta 7, what is the length of the largest side of the larger pentagon?
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